IS ATl B BINANL ik (CER254E6 A )

(BAL A %)

= P b4 Gz ik & MRk L
1 4 HPEHI 1,094,429 45.57
2 M4 HPEHI 399,472 16.63
3 4= P EL 230,034 9.58
4 = A (RSS3) HPE IR 200,822 8.36
5 BV P EL 177,651 7.40
6 JE HPEHI 90,893 3.78
7 ST HPEHI 60,419 2.52
8 H43= P EL 45,762 1.91
9 EIHAZL TP H 41,515 1.73
10 o N HPEHI 16,615 0.69
11 KB= 2 KRB A f25 B 9,651 0.40
12 XTI AP 8,393 0.35
13 R HPEHI 7,866 0.33
14 B A KRB A f25 B 7,389 0.31
15 LA KRB A f25 B 4,077 0.17
16 HFR YU P EL 2,235 0.09
17 NE] P 1,779 0.07
18 R AT HPEHI 754 0.03
19 B9 AP 461 0.02
20 e PN =i 358 0.01
21 S Zi=p KRB A f25 B 240 0.01
21 bk KRB A f25 B 240 0.01
23 KEFERE KRB A f25 B 239 0.01
23 YR A O) KRB A f25 B 239 0.01
25 bk HPEHI 88 0.00
& F — 2,401,621 100.00
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